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General Instructions:  

I. Read the following instructions very carefully and follow them: This question paper contains 30 

questions. All questions are compulsory. 

II. Question paper is divided into five sections A, B, C, D and E. 

III. Section A questions number 1 to 12 are Multiple Choice type questions. Each question carries 1 mark. 

IV. Section B questions number 13 to 18 are Short Answer type questions. Each question carries 2 marks. 

Write answer to each question in 50 to 60 words. 

V. Section C questions number 19 to 23 are Long Answer type-I questions. Each question carries 4 marks. 

Write answer to each question in 100 to 120 words. 

VI. Section D questions number 24 to 26 are Passage, Cartoon and Map-based questions. Answer each 

question accordingly. 

VII. Section E questions number 27 to 30 are Long Answer type-II questions. Each question carries 6 

marks. Write answer to each question in 170 to 180 words. 

 

 

 

 

 

 

 

 

 

                           SECTION-A 

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark each. 

For Question number 1, two statements are given one labelled as Assertion (A) and the other labelled as 

Reason (R). Read these statements carefully and choose the correct option as the answer from the options (A), 

(B), (C) and (D) given below. 

1. Assertion (A):  India argues that they should also have a role in shaping in decision in the Security 

Council. 

Reasoning (R): Majority of UN General Assembly members now are developing countries. 

Options: 

I. Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of the 

Assertion (A). 

II. Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of 

the Assertion (A). 

III. Assertion (A) is false, but Reason (R) is true. 

IV. Assertion (A) is true, but Reason (R) is false 

2. Which of the following country is the biggest contributor of the UN Budget? 

I. China. 

II. Russia. 

III. USA. 
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IV. France. 

3. Arrange the following rulers of Pakistan in the chronological order as per the period of their rule: 

A. General Zia-ul-Haq. 

B. Benazir Bhutto. 

C. General Musharraf. 

D. Zulfikar Ali Bhutto. 

      

    Option. 

I. A, B, C, D. 

II. B, D, A, C. 

III. C, A, D, B. 

IV. D, A, B, C. 

4. Which Indian Prime minister went to Lahore on bus to sign a Peace Declaration. 

I. Manmohan Singh. 

II. Narendra Modi. 

III. Atal Bihari Vajpayee. 

IV. Indira Gandhi. 

5. In respect to traditional notion of security which one of the following is not a response to threat. 

I. Alliance building. 

II. To surrender. 

III. To defend. 

IV. Attack. 

6. Which of the following is under disarmament. 

I. Biological Weapon Convention. 

II. Anti-Ballistic Missile Treaty. 

III. Strategic Arms Limitations Treaty. 

IV. Nuclear Non-proliferation. 

7. Which of the following leader went on a fast in 1946 demanding that temple in Madras provinces be 

opened to Dalits. 

I. Vallabh Bhai Patel. 

II. Potti Sriramulu. 

III. Mahatma Gandhi. 

IV. Jawahar Lal Nehru. 

8. Under State Reorganisation Act of 1956 how many states were created. 

I. 20. 

II. 28. 

III. 14. 

IV. 10. 

9. The ideology of ‘Integral Humanism’ is associated with which party. 

I. Communist Party of India. 

II. Socialist Party. 

III. Congress. 

IV. Bhartiya Jana Sangha. 

10. Which of the following statement is not true about B. R. Ambedkar. 

I. He is founder of Independent Labour Party. 

II. He is chairman of the drafting committee of the constituent assembly. 

III. He was minister in Nehru’s first cabinet after independence. 

IV. He adopted Islam in 1956. 

11. Who was the PM when government passed the Muslim Women Protection of Right on Divorce act. 

I. Indira Gandhi. 

II. Rajiv Gandhi. 
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III. A. B. Vajpayee. 

IV. H. D. Deve Gowda. 

12. In which year Rajiv Gandhi was assassinated. 

I. 1984. 

II. 1992. 

III. 1995. 

IV. 1987. 

 

                         SECTION-B 

13. Mention two objectives of First Five-year plan. 

14. Name two major development around 1986 in India. 

15. What is the cause of split of Communist party in 1964. 

16. Mention two points of conflict between India and Pakistan. 

17. Give two reasons why USA is interested in South Asia? 

18. What do you mean by Vision 2020? 

 

                    SECTION-C 

19. Explain the view of right and left against the globalisation? 

                               Or 

What are the major cultural consequences of the Globalisation. 

20. Describe how the EU can challenges the US in today world? 

21. “With World population crossing 760 crores the Global poverty is another major insecurity”. Explain. 

                               Or 

Explain the Cooperation in respect to Traditional Security? 

22. Describe four major developments during 1990s which have lasting impact on the Indian political 

scenario? 

23. What were the different problem faced during the partition of the country. 

 

                    

 

                    SECTION-D 

 

24. In the given political outline map of India (on page 17), four States have been marked as and. 

Identify these States on the basis of the information given below and write their correct names in your 

answer-book along with the respective serial number of the information used and the concerned 

alphabets given in the map as per the following format: 

Serial no of the information 
used 

Concerned alphabet given on 
the map 

Name of the states 

I.    

II.   

III.   

IV.   

 

I. The State related to former Prime Minister Chaudhary Charan Singh. 

II. The State to which former Deputy Prime Minister Jagjivan Ram belonged. 

III. The State where the Naxalites were very active. 

IV. A State where the Congress party could not win even a single seat in the Lok Sabha elections in 

1977. 
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25. Read the following passage carefully and answer the questions that follow: 
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India is of the view that the major responsibility of curbing emission of greenhouse gases rests with the 

developed countries, which have accumulated emissions over a long period of time. India pointed out 

that the per capita emission rates of the developing countries are a tiny fraction of those in the developed 

world. 

I. India signed and ratified the Kyoto Protocol in: 

A. August 2000. 

B. August 2001. 

C. August 2002. 

D. August 2003. 

II. Why were some developing countries exempted from the requirements of the Kyoto 

Protocol? 

A. They were pioneers in developing eco-friendly technology. 

B. They were assisting some other countries to adopt clean technologies. 

C. They had already launched renewable energy programmes. 

D. Their contribution to emission of greenhouse gases was insignificant. 

III. Where was the Earth Summit held? 

A. Paris 

B. Rio de Janeiro 

C. Kyoto 

D. Montreal 

IV. Which one of the following is an example of Global Commons? 

A. The Great Barrier Reef. 

B. The Grand Canyon. 

C. The Outer Space. 

D. The Sahara Desert. 

26. Study the cartoon given below and answer the questions that follow: 

 
I. Identify and name the leader who toppled the Janata Government. 

II. Identify and name the Prime Minister of the Janata Party Government shown in the 

cartoon. 

III. Highlight any two reasons for the defeat of the Janata Party in 1980. 

 

              SECTION-E 
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27. “India has maintained good relation with all the post-communist countries, but the strongest 

relation is still those between Russia and India”. Explain. 

                                 Or 

What do you mean by Soviet system. Explain the causes for disintegration of the USSR? 

28. Explain the term ‘Common but Differentiated Responsibility’ with example. 

                                 Or 

Mention the major global commons. Explain the India’s stand on the Environmental issues. 

29. Describe the India’s Nuclear policy. 

                               Or 

Explain the role of Jawahar Lal Nehru in India foreign relation. 

30. Explain the three different issues India faced with respect to north-east. 

                               Or 

Explain the external and internal disputes on the issue of Kashmir. 
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